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K’ 3) «Moe HacTpoeHune»,
4‘

) — Xopollee HacTpoeHue: +5; +4; +3; +2; +1;
— NQ10X0e HacTpoeHwue: —-1; -2; -3; -4, -5.




$ YCTHbIE yripa>XHEeHUsl.
4 HamamTe 4yactb OT yucna:
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L d YCTHbBIE yripa>KHeHMUS.
< CpaBHUTE U CKaXXnUTe, Kakoe 13 yucen
) 6onbLue:

a) 5vin 4,7;

6) 6,07 unn 6,7;

B) 7,2 wnn 7,22;

r) 2,44 vinn 2,442;
n) 8,3 win 8,30;

e) 0,021 wnm 0,0209;
) 0 unm 0,03;

3) 9,992 nnn 9,9915.




— CohopMynnpyuTte, Kakme 4ymcna
Ha3blBalOTCH
NPOTUBOMNOJIOXXHbIMW,

- Kakoe umncno éyger
NPOTUBOMOJIOXXHO HY/HO?

— CKOJIbKO MPOTUBOMOJIOXKHbIX
Yyncesl UMeeT KaXxaoe 4Yncno?

) -(-a) = a
)




MPOTUBOINMOJIOXHDbIX.

/: -3;11; -8; -7/;

5: -11; 2; 8; —-1.
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